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. Tal og ligninger

Lasning af andengradsligning

[=] - MATX.DK

LYT LZES LER

1 Lgs ligningen 222 + 42 — 6 = 0.

1 og -3
2 Lgs ligningen 2% — 3z — 10 = 0.
5 og -2
3 Lgs ligningen —2% + 122 — 35 = 0.
7o0g5
4 Lgs ligningen 22 + 10z + 25 = 0.
-5 0g -5
5 Lgs ligningen —2% 4+ 5z = 0.
50g0
6 Lgs ligningen —2? — 92 — 18 = 0.
-3 og -6
7 Lgs ligningen 2% + 42 — 5 = 0.
1og-5

8 Lgs ligningen —2? + 3z + 10 = 0.

5 og -2




EgaEl

Tal og ligninger
Lasning af andengradsligning

[=] - MATX.DK
LYT LAES LAR

9 Lgs ligningen 2% + 8z = 0.

0 og -8
10 Lgs ligningen —2? — 7z + 8 = 0.

1 og -8
11 Lgs ligningen 22 — 1 = 0.

1og-1
12 Lgs ligningen 2% — 162 + 64 = 0.

8 og 8
13 Lgs ligningen —2% 4+ 9 = 0.

3 o0g-3
14 Lgs ligningen 2% 4 5z — 24 = 0.

3 og -8
15 Lgs ligningen —2% + 10z — 16 = 0.

8 og 2
16 Lgs ligningen 2% + 52 4+ 6 = 0.

-2 0g-3




